/DVIRB

*UXSD 5RINiDG 6 :-)L6 7\J

7\J

QOZIFJHQID VURZH 4z P
JU 3DSDI *UDT\QD $&6
6/2:-1% 6:-)6

7\J

7HQW VIRRZ\ Z G
3(CID = HVIDZ $&6
7(11,6 6:)I6

7\J

QZIFTHQD VIRZH iZ P
JU *T\ERZVN. -DURViDZ
$&6 6,/2:1,$ 6:)I6

7\J

QZIFTHQD VIRZH iZ P
JU *UT\ERZVNL. -DURViDZ
$&6 6,/2:1.$ 6:)I6

7\J

7HQY THPQ\ Gz PJU
OURFJHN = DIGHPDU $&6
$ $&6 % 6:)I6

7\

7HQV VIRIRZ\ 0Z Gl
3(CID = HViDZ $&6
7(11,6 6:)I6

7\J

YIQHW SUDIHV GZ PJU
3DSDI *UDT\QD $&6
$(52%,& 6:)I6

7\J

UQHVV FDUDQHILFV iZ
PJUSDN "RIRID $&6
$(52%.& 6:)I6

SRQLHG]LD3HN

7\J

QZIFJHQID VURZH 4z P
JU *UJ\ERZVNL -DURViDZ

7\J

7HQWV VIRIRZ\ 0Z GU
3(CID zIHViDZ $&6

7\J

3UND QRTQD iZ PJU
OURFIHN = DIGHPDU $&6
$ $&6 % $&6 & 62 )L
6

7N
7HQW VIRRZ\ *6 iZ Gl
3(CID = HVIDZ $&6
7(11,6 6:)I6

7\J

=DICFID GID RVYE TH
1ZRIQIHQLDPL HNDUVNLPL
PJU ODUXVIFT\N -HUJ\ $
&6 =IGRZQID 6:)I6

7\J

3LND QRTQD *6 GZ PJU
OURFTHN = DIGHPDU $&6
$ $&6 % $&6 & 62)L
6

7N
3UND QRTQD *6 iZ P
_RGFIDEVNL . UT\V]IRI $&
6% $&6 % $&6 & 6:
6

7N
HUQHVY JGURZ\ NUCIRVEXS)

7\J

QZIFTHQD VIRZH iZ P
JU ODUXVIFT\N -HUJ\ $&
66/2:-1% 6:)I6

HURGD

7HQWY JHPQ\ 4Z PJU
OURFJHN = DIGHPDU $&6
$ $&6 % 6:)I6

AN
QZIF]HQLD VERZH uz P
JU5DN "RIRID $&6
6/2:-1% 6:-)6

IUHQLQJ IXQNFIRQDIO\ iZ
PJUSDN "RIRID $&6
$(52%,& 6:)I6

3LND QRTQD *6 1Z PJU
OURFTHN = DIGHPDU $&6
$ $&6 % $&6 & 62)L
6

$86 6,/2:1,% 62)6 7(11,6 6:)16 iZ PJU2ZXVX SHQDID
‘ ‘ ‘ $86 $(52%,& 612)L6
7N 7N 7N 7N 7N 7N 7N
™N ™N 3UND VIDINRZD *6 4z ||[3UND VIDINRZD *6 1z
7HQV VIRRZ\ GZ Gl 7HQV THPQ\ iz PJU IQHVV FDIDQHILFY (2 OZIFHQID VUIRZH 1z P _RVIWyZND 6z PJU | |PJU6]IXERZVND PJU *U]\ERZVN.

36: 36: 316D = HVIDZ $&6 OURFTHN = DIGHPDU $&6 PJUSDN "RIRID $&6 U 30SDI *UDT\QD $&6 2ZXVX 5HQDID $&6 $ 6| [ODUHQD $&6 % 6:)16 ||[-DIRviDZ $26 & 61)16

4ZIFHQD | [HuQHw 7(116 6:)6 $ $&6 % 6:)I6 $(52%,& 6:)6 6/2:1% 6:)I6 Y

VURZH JGIRZA 7N

iz P | |NICIRViXS 7N 7N 7N 7N HQV VIRRZ\ *6 iZ Gl

eron s | lsmoas s _ 3ICID = HViDZ $&6

&GQ d &GQ d 7HQWY JHPQ\ iZ PJU THQV VIRRZ\ GZ Gl JUQHVY TGURZ\ NUCIRVAXS MIQHW SIDIHY 1z PV | |[7¢11,6 6:)16

U | o, OWRFJHN = DIGHPDU $&6 31D = HViDZ $&6 iZ PJU2ZXVX SHQDID 3DSDI *UDT\QD $&6

0236 6(_)@"' $ $&6 % 6:)I6 7(11,6 6:)I6 $86 $(52%,& 6:2)L6 $(52%.& 6:)6
- —~ 7N 7N
<
= I OZIFJHQID VUIRZH iz P OZIFJHQID VUIRZH iz P
N ;FCQ\B/ ‘f\"msa,lz)} ‘fé‘eeu JUSDN "RIRID $&6 JUSDN "RIRID $&6

i - - - - -
70116 G20 6/2:1% 6:)I6 6/2:1% 6:)I6
—~ 7N
N 3UND VIDINRZD GZ PJU

36 SUND VIDINRZD P ~UJ\ERZVN. -DIRVIDZ $&

JU*UJ\ERZVN. -DURViDZ 6& 6256

$&6 & 61)I6 -

7N

36: IHQV JHPQ\ Z

PJU OURF]HN = DIGHPDV

$&6 $ $&6 % 61)I6

7N 7N 7N




/DVIRB

*UXSD 5RINiDG 6 :-)L6 7\J

7\ 7\
36: 36:
UZIFJHQLD IIQHWV
VIiRZH FDNDQHILFV
uz P uz P
5DN 5DN

“RURID $&| |"RIRID $&
6

7\J

QZIFTHQD VIRZH iZ P
JU ODUXVIFT\N -HUJ\ $&
66/2:-1% 6:)6

7\J

7HQY THPQ\ Gz PJU
OURFJHN = DIGHPDU $&6
$ $&6 % 6:)I6

7\J

JUQHVV FDUDQHILFV GZ

7\J

QZIFJHQID VEURZH 4Z P

7\J

=DICFID GID RVYE H
1ZRIQIHQIDPL (HNDUVNLPL
PJU ODUXVIFI\N -HU\ $
&6 zIGRZQID 6:)I6

7\J

QZIF]HQLD VERZH uz P
JU 2ZXVX 5HQDID $&6
6/2:-1% 6:-)6

7\J

QZIF]HQLD VERZH uz P
JU 2ZXVX 5HQDID $&6
6/2:-1% 6:-)6

7\J

3UND VIDINRZD *6 iZ
PJU 6]IXERZVND
ODUHQD $&6 % 6 = )I6

7\

7\J

3LND VIDINRZD *6 iZ
PJU *UJ\ERZVNL
-DIRVIDZ $&6 & 6:)I6

7\J

3UND QRTQD *6 (Z PJU
_RGFIDEVNL . UT\V]IRI $&
6% $&6 % $&6 & 6:
6

z 6 Pl SDN *RIRID $&6 U ODUXVIFTN —HIT\ $& 7HQV THPQ\ GZ PJU
% 66/—2 :Lel'$ 2{5%’/"'& $(52%,& 6:)6 66/2:1,% 6:)I6 OURFTHN = DIGHPDU $&6
ﬁ z) D) $ $&6 % 6:)6
7N
N 7N
- 3UND VIDINRZD iz PJU
o - d i a
36:= IHQV JIHPQ\ 0z *[J\ERZVN. -DIRVIDZ $&
PJU ODUXVIFT\N -HI\ $ 6& 6256
86 $&6 % 6:)I6 -
= 7N
361 SUND VIDINRZD P THQW LHPON UZ PIU
, OURF]HN = DIGHPD! $&6
U *UJ\ERZVN. ~DURViDZ S $U6 % 6236
$86 & 6:)I6 :
- 7N
I 3UND QRTQD *6 iz PJU
o OURFTHN = DIGHPDU $&86
) $ $86 % $&6 & 6:)L
6
7N
QZIFTHQD VURZH 4Z PJU *UJ\ERZVN.
_DIRViDZ $&6 6,/2:1,$ 6:)I6
7N 7N
“

QZIFJHQID VEURZH GZ PJU *UJ\ERZVNL
-DIRVIDZ $&6 6,/2:-1,$ 6:)I6

QZIFJHQID VEIRZH GZ PJU *UJ\ERZVNL
-DIRViIDZ $&6 6,/2:-1,$ 6:)I6




